Unit 2 - Review
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1. What is the trend in the data? (Use words like strong, weak, negative, positive, linear, non-linear) _________________________________________________________________________

____________________________________________________________________________________
____________________________________________________________________________________
2.  Is the correlation strong?  Justify your answer. ______________________________________
_____________________________________________________________________________________
_____________________________________________________________________________________
3. Calculate the correlation coefficient.  What does this tell you? ______________________
_____________________________________________________________________________________
_____________________________________________________________________________________
4.  What is the equation of the line of best fit?  

5. What does the x represent? _______________________________________________________

6. What does the y represent?  ______________________________________________________
5. If the temperature is 28 degrees Celsius, estimate the power demand.

6. What is the temperature if the power demand is 28 150 MW?  

7. Which of #2 and #3 is interpolation? Which is extrapolation?
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2.  Is the correlation strong?  Justify your answer. ______________________________________
_____________________________________________________________________________________
_____________________________________________________________________________________
3. Calculate the correlation coefficient.  What does this tell you? ______________________
_____________________________________________________________________________________
_____________________________________________________________________________________
4.  What is the equation of the line of best fit?  

5. What does the x represent? _______________________________________________________

6. What does the y represent?  ______________________________________________________
5. If the temperature is -10 degrees Celsius, estimate the power demand.

6. What is the temperature if the power demand is 21 450 MW?  

7. Which of #2 and #3 is interpolation? Which is extrapolation?
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According to a recent poll by the Ottawa Citizen,  35% of people living in Ottawa take the bus at least 5 times a week.  The poll has a margin of error of 4%, 9 times out of 10.  Explain what this means.
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